
Name: Long multiplication - missing number (Skill 83)

Long multiplication (missing number)

1) 25 x _____ = 550

2) 76 x _____ = 4560

3) 67 x _____ = 6365

4) 72 x _____ = 6480

5) 74 x _____ = 4514

6) 31 x _____ = 2542

7) 36 x _____ = 2484

8) 15 x _____ = 345

9) 83 x _____ = 7885

10) 41 x _____ = 2091

11) 95 x _____ = 5320

12) 87 x _____ = 7569

13) 39 x _____ = 1365

14) 78 x _____ = 5226

15) 39 x _____ = 2379

16) 95 x _____ = 3515

17) 15 x _____ = 1245

18) 37 x _____ = 1813

19) 31 x _____ = 2635

20) 62 x _____ = 4340

Answers, fold under: Mark your work when you have finished.

1) 22

2) 60

3) 95

4) 90

5) 61

6) 82

7) 69

8) 23

9) 95

10) 51

11) 56

12) 87

13) 35

14) 67

15) 61

16) 37

17) 83

18) 49

19) 85

20) 70
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